Malkan Interactive Communications dba KEYS/KKBA/KZFM 2117 LEOPARD CORPUS CHRISTI, TX 78408 361-883-3516 Client:MICHAEL CLOUD FOR CONGRESS (N)Order #:4134-00003Description:Cloud for CongressDate Entered:3/1/2024P.O.#:Salesperson:Salesperson:Katz, PhiladelphiaInvoice Frequency:Billed at end of Media/EOS, Sorted by DatePhone/Fax:716.759.0930

KATZ MEDIA GROUP (N) Attn: TREVOR 125 WEST 55TH ST. 3RD FLOOR NEW YORK, NY 10019 USA

Malkan Interactive Communications Statement Group: National - Political Receivables Group: Katz National Sales Commission: A/R Cash - KEYS-AM A/R Account: Order Discount: <None> Agency Discount - Standard 15% Agency Discount: Default Primary Product Code: Political Secondary Product Code: <unassigned> Last Modified: 3/1/2024 Modified 2 times Per Spot OrderType: Katz Exchange Source:

Exchange Source Order ID: 37155119

On-Air Schedule

	UII-AII SCI	lieuule	And the second se							0		T . 1	14	Tu	117	Th	E	C.	C.
S	tart Date	End Date	Station	Sch	eduled T	Time/Ev	ent			Qty	Rate	Total	M	Tu	1000 C	Th		Sa	<u>Su</u>
1	2/26/2024	3/5/2024	KEYS-AN	06:0	00:00a 1	to 10:0	0:00a	CUSTOM	:30	8	5.00	40.00	Y	Y	Ν	Ν	N	Ν	N
		GENERAL National-Polit GENERAL	ical	Descriptior	Adv. Se	Comm: ep: X	x	Agency Discount Prod Sep: X	X		Discount: ty: 175	Proc	l: Pol	itical					
		an: 4134-03 k	EYS :30				Otation	Start	End		Соор	Prod	uct		Cart .	Type	R	estri	ictions
		/ Name - 3/5/2024		Cart	% /	Iter	Station	Start	LIIU		0000	1100							
		CLOUD FOR	CONODES	00005		1 %	KEYS-A	M 3/1/2024	3/5/2024			Politi	cal		Com	merc	ial	<1	None>
	3/4/202			03205		1 70	KETO-			8	5.00	40.00	4	4	0	0	0	0	0
			KEYS-AN	10.0	00:00a 1	to 03.0	0.000	CUSTOM	:30	8	5.00	40.00	Y	Y	Ν	Ν	Ν	Ν	N
2	2/26/2024 Avail:	3/5/2024 GENERAL	NET S-AN	10.0		Comm:		Agency Discount		Order	Discount:								
	Inc. Acct: Spot Type:	National-Polit GENERAL		Descriptior	Adv. Se		~	Prod Sep: X		Priori	ty: 175	Prod	d: Po	litical					
		<i>lan: 4134-03 k</i> v Name	(EYS :30	Cart	%	/ Iter	Station	Start	End		Соор	Prod	uct		Cart	Туре	R	estri	ictions
	and the second se	- 3/5/2024		Cart	/0/		oranon												
	1 2024	CLOUD FOR	CONGRES	03205		1 %	KEYS-A	M 3/1/2024	3/5/2024			Politi	cal		Com			100	None>
	3/4/202									8	5.00	40.00	4	4	0	0	0	0	0
3	2/26/2024	3/5/2024	KEYS-AN	03:	00:00p	to 07:0	00:00p	CUSTOM	:30	8	5.00	40.00	Y	Y	N	Ν	Ν	Ν	Ν
	Avail: Inc. Acct:	GENERAL National-Polit GENERAL	tical	Description	Adv. Se	Comm: ep: X	х	Agency Discount Prod Sep: X	:: X		r Discount: ty: 175	Pro	d: Po	litical					
		lan: 4134-03 l	KEYS :30				01-1	Ctart	End		Соор	Prod	uct		Cart	Type	. 6	estr	ictions
	and the second	y Name - 3/5/2024	and the second	Cart	% /	/ Iter	Station	Start	End		COOP	FIUU			oan	Type		000	1000110
		- 3/5/2024 4 CLOUD FOF	CONCRE	00005		1 %	KEYS-A	M 3/1/2024	3/5/2024			Politi	cal		Com	merc	ial	<1	None>
	3/4/202			03205		1 70	KET0-7			8	5.00	40.00	4	4	0	0	0	0	0
٨	3/2/2024	3/9/2024	KEYS-AM	/ 06:	00:00a	to 10:0	00:00a	CUSTOM	:30	3	3.00	9.00	Ν	Ν	Ν	Ν	Ν	Y	Ν
-	Avail: Inc. Acct: Spot Type	GENERAL National-Poli GENERAL	tical	Descriptio	Sales (Adv. S	Comm:		Agency Discoun Prod Sep: X	: X		r Discount: ty: 175	Pro	d: Po	litical					
		lan: 4134-03 l	KEYS:30	Cart	0/	/ Iter	Station	Start	End		Соор	Prod	uct		Cart	Туре	F	lestr	rictions
		y Name - 3/5/2024		Gan	/0 /		Station	Otart	End										
		4 CLOUD FOF		03205		1 %	KEYS-A	AM 3/1/2024	3/5/2024			Polit	ical		Com	merc			None>
	3/2/202									3	3.00	9.00	0	0	0	0	0	3	0
5	3/2/2024	3/9/2024	KEYS-AN	/ 10:	00:00a	to 03:0	00:00p	CUSTOM	:30	3	3.00	9.00	Ν	Ν	Ν	Ν	Ν	Y	Ν
		GENERAL National-Poli GENERAL	tical	Descriptio	Adv. S	Comm: ep: X	X	Agency Discoun Prod Sep: X	t X		r Discount: ity: 175	Pro	d: Po	olitical					

Sta	art Date	End Date	Station	5	Scheduled	Time/Ev	vent	Repeate	ed Le	ength	Qty	Rate	Total	<u>IVI</u>	Iu	<u>vv</u>	<u>Th</u> <u>I</u>	2 2	id i	<u>su</u>
		n: 4134-03	KEYS :30	. .		/ 14 = =	Ctation	Star	•	End		Соор	Produc	ct	ł	Cart 1	Туре	Re	stric	tions
	Copy			Cart	70	/ Iter	Station	Star	L	LIIG		<u>v v v p</u>								
	3/2/2024 -			00005		1 %	KEYS-A	M 3/1/	2024	3/5/2024			Politic	al		Comr	mercia	1	<n< td=""><td>one></td></n<>	one>
	3/2/2024		R CONGRES 2024	03205		1 70	KE 13-A	WI 0717			3	3.00	9.00	0	0	0	0	0	3	0
	3/2/2024	3/9/2024	KEYS-AN		03:00:00p	to 07.0	00.00p	CUSTO	M	:30	3	3.00	9.00	N	N	Ν	N N	V	Y	N
1	Avail: Inc. Acct:	GENERAL National-Pol			Sales Adv. S	Comm: Sep: X		Agency D Prod Sep	iscount:	х		Discount: y: 175	Prod:	Polit	ical					
	Spot Type:	GENERAL n: 4134-03	KEYS 30	Descrip														_		
		Name		Cart	%	/ Iter	Station	Sta	<u>t</u>	End		Соор	Produ	ct		Cart	Туре	Re	estric	tions
			R CONGRES	02205		1 %	KEYS-A	м 3/1/	2024	3/5/2024			Politic	al		Com	mercia	A	<n< td=""><td>one></td></n<>	one>
	3/2/2024		2024	03205		1 /0	KETO-A				3	3.00	9.00	0	0	0	0	0	3	0
3	3/3/2024		KEYS-AN	1	06:00:00a	to 10:0	00:00a	CUSTO	M	:30	3	3.00	9.00	Ν	Ν	Ν	NI	N	N	Y
1	Avail:	GENERAL National-Po		Descrip	Adv. S	Comm: Sep: X	x	Agency D Prod Sep		х		Discount: y: 175	Prod	: Polit	lical					
		an: 4134-03	KEYS:30	Cart	0/	/ Iter	Station	Sta	rt	End		Соор	Produ	ct		Cart	Туре	Re	estric	tions
	3/2/2024	Name - 3/5/2024		Call	/0	/ 1101	Oldion	014												
	1 2024	CLOUD FO	R CONGRES	03205		1 %	KEYS-A	M 3/1	2024	3/5/2024			Politic			100 000 000	mercia			one>
	3/3/2024	3/3/	2024								3	3.00	9.00	0	0	0		0	0	3
1	3/3/2024	3/10/2024	KEYS-AN	٨	10:00:00a	to 03:	00:00p	CUSTO	M	:30	3	3.00	9.00	N	N	Ν	N	N	N	Y
- 1	Avail: Inc. Acct: Spot Type:	GENERAL National-Po GENERAL	litical	Descri	Adv.	Comm: Sep: X	х	Agency E Prod Sep		х		Discount: ty: 175	Prod	: Polit	tical					
		an: 4134-03 Name	KEYS :30	Cart	%	/ Iter	Station	Sta	rt	End		Соор	Produ	ict		Cart	Туре	R	estri	ctions
	3/2/2024															-	•			
	1 2024 3/3/2024	ALESCARIANA MORES IN 1975	R CONGRE	03205		1 %	KEYS-A	M 3/1	/2024	3/5/2024	3	3.00	Politic 9.00	o 0	0	Com 0	nmercia 0	0 0	<n 0</n 	one> 3
	3/3/2024		4 KEYS-AN	,	03:00:00p	to 07:	q00:00	CUSTO	M	:30	3	3.00	9.00	Ν	Ν	Ν	N	Ν	Ν	Y
	Avail:	GENERAL National-Po		Descri	Sales Adv.	Comm: Sep: X		Agency [Prod Sep		x		Discount: ty: 175	Prod	: Poli	tical					
	**Copy Pla	an: 4134-03 Name	KEYS :30	Cart		/ Iter	Station	Sta	rt	End		Соор	Produ	uct		Cart	Туре	R	estri	ctions
		- 3/5/2024											-							
	1 2024 3/3/2024		R CONGRE /2024	0320	5	1 %	KEYS-A	AM 3/1	/2024	3/5/2024	3	3.00	Politio 9.00	oal 0	0	Com 0	nmercia 0	a) 0	<n 0</n 	one> 3
S	tion Tot:		pot Count	C	irossBillin	77-21	Combin			Net Bill \$147.	-									
	EYS-AM		42		\$174.00		01510	\$26.10	0		90		Total Ch	arar					\$	174.
C	Order Sta	art Date:	3/2/2024	C	order En	d Date	e: 3/5/2	024	Spots	. 42		Combi	ned Disc		ts:					\$26. 147.
								- C - J	tining ti	ma and u	vill acc	ent no adver				iced '	with s	ın ir		
(KEYS discrimina contract f	ate on the l	pasie of rac	e geno	ler or eth	nicity	Advertis	er hereby	/ certifie	s that it is	s not bi	ept no adver iying broad	casting air	time	unc	aer tr	nis ad	veri	ISII	g sa

Projected Media	Month/End-Of-Sche	dule Billing Totals for MICI	HAEL CLOUD FOR	R CONGRESS (N) / 413	34-00003 :
		Spot Count	Gross Billing	Combined Disc.	Net Billing
March	2024	42	\$174.00	\$26.10	\$147.90

Confirmed & Accepted for Malkan Interactive Communications By:

Accepted for KATZ MEDIA GROUP (N) By:

Please Sign and Return One Copy



Political Broadcast Agreement Form for Candidate Advertisements (PB-19)

This form may serve as a model agreement for the sale of political broadcast advertising time and to facilitate compliance with the Federal Communications Commission's (FCC) record retention requirements. Broadcasters seeking information on how the FCC's political broadcast rules and record retention requirements apply to their specific circumstances should seek the advice of their own attorney.

Please note:

You will be prompted to save this form after each entry of your electronic signature. Make sure to re-save the form if you enter any information after entering your electronic signature.

Produced and published by NAB's Legal department. Copyright 2020 National Association of Broadcasters.

Reproduction or publication of the contents, in whole or in part, without express permission is prohibited. No liability is assumed with respect to the use of the information contained herein.

A companion to this form is NAB's Political Broadcast Catechism. To assist with your understanding of the political advertising rules, an all-new Political Advertising Primer course will become available via Broadcast Education in March 2020.

Broadcast Education is NAB's home for online educational offerings, including live and on-demand webcasts, podcasts and certificate courses. For more information, visit <u>education.nab.org</u>.

NAB members have access to an array of member tools and benefits. To access additional member tools, please visit **nab.org/MemberTools**.

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.

I, Drogin Group

___, hereby request station time as follows:

IDENTIFY CANDIDATE TYPE

FEDERAL CANDIDATE

STATE OR LOCAL CANDIDATE

ALL QUESTIONS/BLOCKS MUST BE COMPLETED

Candidate name:									
Michael Cloud for Congress									
Authorized committee:									
Cloud for Congress									
Agency requesting time (and contact information):									
N/A Drogin Group									
Candidate's political party:									
Republican									
Office sought (no acronyms or abbreviations):									
Congress									
Date of election: March 5th, 2024	General Primary								
Treasurer of candidate's authorized committee:									
Amanda Carty									
The undersigned represents that:									
(1) the payment for the broadcast time requested has been furnished by (check one box below):									
the candidate listed above who is a legally qualified candidate, or									
the authorized committee of the legally qualified candi	date listed above;								
(2) this station is authorized to announce the time as paid for by such person or entity; and									
(3) this station has disclosed its political advertising policies, including applicable classes and rates, discount, promotion									
and other sales practices (not applicable to federal candidates).									
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.									
Candidate/Committee/Agency	Station Representative								
Signatore: Docusigned by: Dragen	Signature:								
Name: John Drogin	Name: U. MOREN 3								
Date of Request to Purchase Ad Time: 3-1-24	Date of Station Agreement to Sell Time: $3 - 1 - 2Y$								

Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.										
Candidate/Authorized Committee/Agency										
Signature: Docusigned by: Defin Diagin 630BE8EF082F465										
Name: John Drogin										
Date: 3-1-24										
TO BE COMPLETED BY STATION ONLY Ad submitted to Station? Yes No Date ad received: 3-1-24										
Note: Must have separate PB-19 Forr	Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with differing copy).									
Federal candidate certification signed (above): Yes No N/A										
Disposition: Accepted Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)* Rejected – provide reason: *Upload partially accepted form, then promptly upload updated final form when complete.										
Date and nature of follow-ups, if any (e.g., insufficient sponsor ID tag):										
Contract #4134 - 3	Station Call Letters:	Date Received/Requested: 3-1-2-4								
Est. #:	Station Location: Confus Christ: TX	Run Start and End Dates: 3-2/3-10								
use this space to document schedule of	affic system print-out) or other documents time purchased, when spots actually aired will not upload the actual times spots aire	, the rates charged and the classes of time								